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Question 1.Select the related word/letters/numbers from the given alternatives:

& 72 faewedt 7 @ Hafeerd eree)sarl/aear & gfav
Book:Pages::Wall:?

& : I55 1 §aR : ?
Options:

1) SAND

G

2) CEMENT

e

3) BRICKS

&

4) STONES

e

Correct Answer: BRICKS
£

Candidate Answer: BRICKS

£

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
LNPQ : ACEF : : TUXY : ?

Options:

1) IMKL

2) IKMO

3) IKMN

4) PKLR
Correct Answer: IKMN
Candidate Answer: IKMO

Question 3.Select the related word/letters/numbers from the given alternatives:

3 1 ol & @ Haferd eree) 3R/ aedr # g
4:20::8: ?

Options:

1) 74

2) 70

3)72

4) 78
Correct Answer: 72
Candidate Answer: [ NOT ANSWERED ]
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.
(A) Bud (B) Branch (C) Leaf (D) Plant

few a1 faemedt 31 & faway ee)/ e/ 3ER AT
(A) el (B) T (C) et (D) dier

Options:
1)A

2)B
3)C

4)D
Correct Answer: D
Candidate Answer: D

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

Teu 91T fenedt # & fave Ase/TaT/3ER JIH 0|
(A) ABD (B) FGI (C) LMO (D) STU

Options:

1A

2)B
3)C

4)D
Correct Answer: D
Candidate Answer: D

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

w710 fasmedt & Fwa ersc)/ e/ 3eR/dEar g7 gAv|
(A) 24-42 (B) 36-63 (C) 37-73 (D) 35-51

Options:

1A

2)B
3)C

4)D
Correct Answer: D
Candidate Answer: D

Question 7.Arrange the following words as per order in the dictionary.

AT 2Use] Y ASEHI & T & AR sTaeUd HIfo |
1. Manifest 2. Meticulous 3. Meridian 4. Merchant

Options:
1) 1,4,3,2

2)2,1,4,3
3) 1,3,2,4

4)2,3,4,1
Correct Answer: 1,4,3,2



Candidate Answer: 1,4,3,2

Question 8.Which one set letters when sequentially placed at the gaps in the given letter series shall complete it?

JERT T FleT-HT g WA TATAT TR FHAR TGeT U & 315 34T AT T I all ?
M__OMMN__M__NOMMN__M

Options:
1)ONMO

2)NOMO
3)MONM

4)NNMO
Correct Answer: NOMO
Candidate Answer: NOM O

Question 9.Which number will complete the series?

At 7 & Ao & Fi-71 37 o7 FEm?
14, 27, 52, 101, 198, ?

Options:

1) 381

2) 395
3) 301

4) 394
Correct Answer: 391
Candidate Answer: 391

Question 10.M is son of P, Q is the grand-daughter of O, who is the husband of P. How is M related to 0?

M, PHFITE, QO Il g, ST RF P afd I M & O W R woeaetr © 2
Options:

1) Son

3’:!'

2) Daughter

g‘:?r

3) Mother

HIAT

4) Father

frar

Correct Answer: Son
LE)

S
Candidate Answer: Son
LE)

=l

Question 11.Ramesh is richer than Satish but Jaya is less rich than Ramesh. Ram is less rich than Jaya but richer than Satish, but is not as rich as Ramesh. Ramesh is
less rich than Navin. The richest amongst them is?

T, Felrer & 31 1R B e ST, Tr & & AR B1 T, ST @ o 3R T efter @ 31fRren 3t & Qfther g 1oer Toida 3R &1t &1 1o, a1t @ o 3mi
&1 398 & w9 310% 3AR FiT &7
Options:

1) Ramesh

T

2) Satish

Hrer

3) Navin

AdT

4) Jaya

oI aT

Correct Answer: Navin

GEIG)

Candidate Answer: Navin
AdleT

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

TrAtaf@d fashed & & g8 2ee Tod Sl FGT 97T 2eg; o 3ERT T TANIT Fleh €T ST S Feel 2
CARPENTER



Options:
1) NECTAR

2) CARPET
3) PAINTER

4) REPENT
Correct Answer: PAINTER
Candidate Answer: PAINTER

Question 13.If FRIEND is coded as HUMJTK, how can CANDLE be written in that code?

fe; FRIEND T fordit shig 19T & HUMITK ToraT STTaT g af 38T g & CANDLE 1 & fer@r simeer ?
Options:

1) EDRIRL

2) ESIFME

3) DCQHQK

4) DEQIQM
Correct Answer: EDRIRL
Candidate Answer: EDRIRL

Question 14.If A denotes —, C denotes x, D denotes +, E denotes +, then 14C3A12E4D2= ?

I A, — Y UeRia AT g, C, x F Yeiid AT g, D, + P IeRIT a1 &, E, + T Teidd T &, ar 14C3A12E4D2=?
Options:

1)6

2) 17

3)28

4) 32
Correct Answer: 32
Candidate Answer: 32

Question 15.If 879= 8,
625=1,

586=9,

then 785 = ?

3Ife 879=8,
625=1,
586=9 &,
ar7g8s =?
Options:
1)6

2)7

3)8

4)9
Correct Answer: 6
Candidate Answer: 6



Question 16.Find the missing number from the given alternatives:

fu 1w fashedt & & ofed @EdT Fa Hifad|
8 7 6
7 6 5
6 5 4
90 &5 ?
Options:
1) 54
2) 44
3) 34
4) 26

Correct Answer: 44
Candidate Answer: 44

Question 17.Sham goes to his friend's house that is straight 10 Km from his house. On his way back, he takes a right turn and walks 2 Km and again takes a right turn
and walks for 10 Km before he takes a right turn again. How much distance is Sham still away from his house?

I 379 AT & & ST & ST 36 T F AWer 10 RN, g &1 a19d olfecd T 98 &lv Hso 2 foh. . Teiclm & 3R & 333 ST & 17T 8 &0 s & Jgel I 10 fe.al.,
TefelT 1 2TH 318 o 319 e @ forctelt g o & ?
Options:

1) 10 Km

10 ..

2)8Km

8 for.am.

3) 12Km

12 fo. .

4) 2 Km

2 R,

Correct Answer: 2 Km
2 R

Candidate Answer: [ NOT ANSWERED ]

Question 18.0ne or two statements are given followed by two conclusions, I and II. You have to consider the statement to be true, even if it seems to be at variance
from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from the given statement. Indicate your answer.

Statement: All boys are tall.
Rajiv is a bay.

Conclusion I: Rajiv is tall.
II: Rajiv is not tall.

T T T &7 gFded U AT § Foreeh 3 & fsend/Agant, I 3R 11 fashrer 31 & 3T9hT faR et § T aarded Ocd § I8 98 Aead: AT a2ar & f&ee gdid gar
&1l 39t 0T e § o T aTe aerdey F & Fia-ar AfYad ¥ & Gt sy /AdT fehtell ST & €1 39eY 3cak &l f[Afese ffv|
FYA : T oI5k o ¢ | TSIT oI5 &

sy I- TSiia ST B

s II-Toia ofeT A8 81

Options:

1) Only conclusion I follows

ool vhy I TE 8

2) Only conclusion II follows

ool sy 11 T 8

3) Both conclusion I and conclusion II follow

vy 1 3R sy 11 @ agr &

4) Neither conclusion I nor conclusion II follows

o Ty [ T8 § 3R 7 sy 11

Correct Answer: Only conclusion I follows

el sy I |8 ¥

Candidate Answer: Only conclusion I follows

Fad sy I T8 T



Question 19.How many triangles are there in the question figure?

Tw 1w great o # fopeer Pege €2

Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

Question 20.Which of the following diagrams represent the relationship between Awards, Pulitzer Prize and Oscars?

fAFATIGT 7 W it~ T [ER, YfeleoR RERR A AR & e Feer gRficn § ?

Options:
1)

l &) l w l N
= = =



Correct Answer:

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

FleT-A 3T TPt T TP & Geat o Ll ?

\

/7
4

P




Options:

1)
Q)
B
1)
2)
|
|
/]
LA
dls
4 \
] =
3)
f} r
=
4)
/
=y
O)
Correct Answer:
f} r
=

Candidate Answer: [ NOT ANSWERED ]



Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 918 Sea¥ IHTaAt 7 { 3t IS &1 IfoTw o wea smapfar Afea ¢

Options:
1)

-
|
|

1
N

Correct Answer:

EIEE e

| | I |
Candidate Answer: [ NOT ANSWERED ]




Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

STeT 3T 3 fe@TT SFTHR FHTST T HSH HIce T Tielt % d1G Ig 198 Scal Pl ST [GETS a1 ?

1 i
] -
I |
1 =
1 | =1
| !
i i
1 I
] 1 1
Options:
1)
- . - .
PRSI
|
[ ] (] L] b
__i__;___ Hlh
[
2)
= L] -
FEEEYEEYEEFY
[ ] -
|
. ® F ®
__i__;___ EIE SxE
[
3)
O [] ]
BN JENEERELE
o e
4 b, - d
Ex _;..__ BEEECE
w i LJ
4)
. “t_
LIREINEE 'F
L . P e
[ |
Correct Answer:
. “t_
LIREINEE 'F
L | . » II

Candidate Answer: [ NOT ANSWERED ]



Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I Teh gYUT T MN TN R @1 ST &l & 318 See¥ 3Tpicral 7 A Flef-Ar 3Tepiel FeaT Iepfcl 1 FgT Ffaifeiesr g ?

&

Options:
1)
I

T

i
R YN

[
]
B
M
o 9

wa Pl

Candidate Answer: [ NOT ANSWERED ]




Question 25.In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix IT are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., D can be represented by 04,12, etc.,
and 'T' can be represented by 65, 79, etc. Similarly you have to identify the set for the word 'BANK'.

TS G el T GEAT-HHg GaNT &RIT 10T &, i T fasrentt # & fordlr vep o foam oram &) faepedt 7 foT 970 wear opg 31eRT & ar aeif g arifv o1w §, o for iy fw
1T &Y TRl 7 81 3Megg I & FoT R Tkl T FEar 0 9 4 3R 3megqg I 7 5 8 9 & 918 §1 57 3T ¥ Ueh BN 1 Tged 30T Tarel 3R T16 7 T HET gan aeiin
ST EHCT | JeR0T & 1T 'D' &1 04, 12 31fe GIRT GIT ST Fehell & T ' ' Y 65,79 31T GaRT GRfTaT ST Fehell &1 S e & 3T T §T 21 'BANK' & forw wwogg 1
e &

Matrix-1 Matriz-H
0 1 2 3 4 5 6 7 8 £
0 B N G L D 5 A 1 K Q R
1 G L D B N G K (8] R A
2 D B N G L 7 K o] R A |
3 N G L D B 8 Q R A K
4 L D B N G El R A K o

Options:
1) 42,69,14,98

2) 00,55,33,57
3) 21,67,30,86

4) 42,78,43,58
Correct Answer: 42,69,14,98
Candidate Answer: [ NOT ANSWERED ]

Question 26.Which is the heaviest metal among the following?

fefafa & § Fla-2r a1 Fed s T e ?
Options:

1) Gold

e

2) Silver

e

3) Iron

i)

4) Copper

GIC

Correct Answer: Gold

AT

Candidate Answer: Iron

et

Question 27.Which of the following uses the spawn mechanism to duplicate itself ?

ST T FleT TG Al CARE Flol & [T FHloT Ah oo HAAAT § ?
Options:

1) Trojan horse

el

2) Worm

ey

3) Keystroke logger

H-TgIh TR

4) Logic bomb

diforeh e

Correct Answer: Worm

el

Candidate Answer: Worm

ey

Question 28.Sun appears red in colour at sunrise and sunset due to

e 3R G & THT FF 1 4T oI 741 fowns &ar g ?



Options:

1) the fact that sun emits only red colour at that time

i 38 TFT GI Fael Al 3T Scafoid HAT &

2) red light having longer wave length scatters away

ST TehIRT 3T ARET-GEF 3118 gleT 3 SHROT YehIoTeT 317 8T §
3) that sun comes out of the mountains

TF vdat # & e §

4) that all other colours scatter away except red

SITeT ST BIS &Y 31w Tl T TRt gt o &

Correct Answer: that all other colours scatter away except red
STl 3l DS Y 3T T 1T ThITOT et S &

Candidate Answer: red light having longer wave length scatters away
STl ThIRT T TRAT-S8 3110 glet & SHROT FehivteT 31T giar §

Question 29.What is the main purpose of white blood corpuscles?

T A 9 HUT T HET Gl FTE ?
Options:

1) to carry nutrients

e dcd of ST=T

2) to combat infection

TeheAOT ¥ TEY AT

3) to carry oxygen

3iTeriSteT o ST

4) to give strength

AT JeTet AT

Correct Answer: to combat infection
TehRAOT ¥ TGY AT

Candidate Answer: to combat infection
TehAOT F TGY AT

Question 30.The layer where the decrease in temperature with increasing altitude is totally absent is

TE IR el 518 TGo1 % FIY-HY AHT 7 fSeper el 767 gl 2
Options:

1) Troposphere

St

2) Ionosphere

TAAHSA

3) Stratosphere

HAAIHS T

4) Mesosphere

ALHASA

Correct Answer: Stratosphere
HHAAIHS T

Candidate Answer: [ NOT ANSWERED ]

Question 31.At hill stations, the boiling point of water will be

I 813 H el T FTYATR FAT B9 ?
Options:

1) same as at sea level

T A T AT WA

2) less than that at sea level

TS T, I o) I 8, 309

3) more than that at sea level

AT Gee o IR BN B, 36 3w

4) equal to the melting point of ice

T & ITeTeATeh o ST

Correct Answer: less than that at sea level
ST s, e o) 81T §, 360 A
Candidate Answer: less than that at sea level
T s O OR 81T 8, 360 A

Question 32.Gandhiji's 'Satyagraha' meant an attachment to the following two elements

atelisht & "Feamre’ & FrfafaEa A 4 =g T A @ 8 ?



Options:

1) Knowledge and religion

A AR e

2) Truth and non-violence

oS 3R Jifgar

3) Truth and chastity

Fearg 3R 3gRar

4) Love of motherland and hate for colonial masters
HGHFE & ey @R 3R it R @i & ufy gon
Correct Answer: Truth and non-violence

Fo AR g

Candidate Answer: Truth and non-violence

weag T arfdar

Question 33.What do you mean by 'Density of Population'?

SAGET Helcd A 319 T HASTA & ?

Options:

1) Ratio of people living below poverty line to total population
TR 3G W A @ dTel S AT el STATEIT T IeTaTT

2) Number of persons live per square kilometre
gfa gt .30, 7 g arer et fr TEar

3) Number of persons in a city

Tondlr e # @ atel eaferaa $r aEar

4) Number of persons living per kilometre

gfar R, Ige arel cafFaat i gear

Correct Answer: Number of persons live per square kilometre

fer a9t 6. 7. & Tg=T arer el - dear

Candidate Answer: Number of persons live per square kilometre

fer a1 6.2, & Tg=T arer el - dear

Question 34.Which of the following is not a feature of a capitalist economy?

fafld 7 & Hla-8r 'Jhardr srdeaawar & Fdvar ¢ § ?
Options:

1) Right to private property

et gFafed @ e

2) Existence of competition

gfaarefar glar

3) Service motive

HAT-gAITT

4) Freedom of choice to consumers
SUHIFAI T T T TacleFar

Correct Answer: Service motive
HaT-gareTT

Candidate Answer: [ NOT ANSWERED ]

Question 35.Sunita Williams is a

ol faferrsa i § 2
Options:

1) Astronaut

3iReT I

2) Missile scientist

AeSer Ay

3) Nuclear scientist

AT A

4) Astro physicist

3iaet sifae-faaet
Correct Answer: Astronaut
3ieT I

Candidate Answer: Astronaut
3iceT Iy

Question 36.Who is the writer of the famous book 'Kabuliwala'?

GITAg YRl ' FIelaTen ' & S i o7



Options:

1) Bankim Chandra Chatterjee

A Tog T

2) Ravindra Nath Tagore

Tfaeg AT &R

3) Munshi Prem Chand

A I T

4) Khan Abdul Gaffar Khan

el HE}I' ITFPR el

Correct Answer: Ravindra Nath Tagore
faeg o &

Candidate Answer: Munshi Prem Chand
Al U U

Question 37.The term 'bully’ is connected with which sport ?

A" 2ree 1 SRT PEATRIRE & & T & Wt o R e & 2
Options:

1) Cricket

foRehe

2) Hockey

gl

3) Badminton

ssfiee

4) Tennis

e

Correct Answer: Hockey
g
Candidate Answer: Hockey

REa)
Question 38.Who amongst the following Wrestlers has been the recipient of the Rajiv Gandhi Khel Ratna Award?

rfof@a & @ fre ugerdrer @1 'Tolig aMTel Wer TooT REPR' T aram &7 ?
Options:

1) Vijender Singh

s g

2) Sushil Kumar

e e

3) Anand Kumar Singh

3Telee; AR fOg

4) Zoravar Singh Faujdar

JIRTEX g Bisier

Correct Answer: Sushil Kumar
el FAN

Candidate Answer: Vijender Singh
[EEG-AG

Question 39.Siderosis is a disease caused by the inhalation of

NEATAT Tk T § S G & A A& F & 7 e oot T @Iar &2
Options:

1) silica dust

e ga

2) iron dust

gt

3) zinc dust

& (fStep) et

4) coal dust

SIIIT-EeT

Correct Answer: iron dust

ofe-ger

Candidate Answer: [ NOT ANSWERED ]

Question 40.The term "Doab" means

ST T FIT Aol idT &7



Options:

1) a land between two mountains
& wdat & o i oy

2) a land between two lakes

& sl & o 7 o

3) a land between two rivers

o ezt & ofver v oy

4) a land between two seas

& wog & e

Correct Answer: a land between two rivers
3 ARt & dver v oy

Candidate Answer: [ NOT ANSWERED ]

Question 41.Which of the following is used as anaesthetics?

IFRAfeFT F ¥ A FAtA@d J & F=ar w1 Far Sarg ?

Options:
1) Ny

2) N0
3) CHy

4) CO,
Correct Answer: N,O
Candidate Answer: CHy

Question 42.Clove is obtained from

dlieT forar® gTed gl & ?
Options:

1) Root

oS

2) Stem

GG

3) Leaves

gfeaar

4) Flower buds

el T el

Correct Answer: Flower buds
el T el

Candidate Answer: [ NOT ANSWERED ]

Question 43.What is Dakshin Gangotri ?

gfayor oy FaT § ?

Options:

1) River valley in Andhra Pradesh

3T 92T & ¢ 'y

2) Unmanned station located in Antarctica

TR 7 Rua wanford ®e

3) Second source of River Ganga

T ALY T GERT Al

4) Island in the Indian Ocean

R Gg, A e e

Correct Answer: Unmanned station located in Antarctica
3fernfes # Feud waarfed &=t

Candidate Answer: River valley in Andhra Pradesh
3T USRI H AT °1er

Question 44.Japan is called the 'Land of the rising sun' because

ST &l ol 3T & TSToieT T’ T el ST g ?

Options:

1) Sun rises there as soon as it sets

i g & e @ e €

2) Sun always remains in the eastern part of the sky throughout the day in Japan

STTTeT 3 feieT 81 g 3rehrer ¥ g ferem 7 €1 et

3) Japan being the Eastern most country in the world, it has the earliest sunrise

<{fir STt fred 3 v T ¥ S O F WA 3R OR W Y, I a8 wie wed vger dar ¥

4) The rays of the sun get reflected from the waters of the sea and make the sunrise beautiful in Japan

& Y THOT T & STel W el 81 R ST H FeT 1 HcATRS Fred Fa1T &l



Correct Answer: Japan being the Eastern most country in the world, it has the earliest sunrise
e SareT farea 3 v ger § S OF 7 Fed 3ifAH oR W §, 31 951 Aoy aed dgA g g
Candidate Answer: [ NOT ANSWERED ]

Question 45.Who was the first Englishman to appear in the Mughal Court during Jahangir's reign?

STEIAM 3 el 7 FITeT GTER  HTeT dTell Tgell 33T i a7 ?
Options:

1) Paul Canning

el hfatar

2) Captain William Hawkins

et fafoae gifhea

3) William Edward

feras vears

4) Ralph Fitch

T v

Correct Answer: Captain William Hawkins
Fees fafoas giferea

Candidate Answer: [ NOT ANSWERED ]

Question 46.The' Narmada Water Dispute Tribunal' was constituted to resolve the water sharing between

FHeT STeT fqare =arnfeor 1 Tohet o2l o ST Sfel & sean T FersTlet & [T ot foham aram o ?
Options:

1) Gujarat and Rajasthan

T 3R Tsredr=T

2) Gujarat and Maharashtra

I[N AR FHGRISE

3) Gujarat, Maharashtra, Rajasthan and Madhya Pradesh

IO, FERISE, Tl A HET TG0

4) Gujarat and Daman and Diu

ISRIA YT et 3R &

Correct Answer: Gujarat, Maharashtra, Rajasthan and Madhya Pradesh
TSI, HERISE, ST 3T HeT e

Candidate Answer: [ NOT ANSWERED ]

Question 47.In which way the President can assign any of the functions of the Union Government to the State Government ?

TSI T THR A 1S 3% FF Rfaf@d 7 A fFg IR F, T TSR i Wi Tt § ?
Options:

1) In his discretion

IO fAgw &

2) In consultation with the Chief Justice of India

AR % HET ITATRT & WERT 4

3) In consultation with the Government of the State

TSI TWHR T RIFY Fh

4) In consultation with the State Governor

T F ToTITe & WAL I

Correct Answer: In consultation with the Government of the State
TSI TWHR T R Fh

Candidate Answer: In consultation with the State Governor

TSI & TSI T IR Heh

Question 48.Where is the Indian National Rail Museum situated?

TSERT T FAGTeRT Fgl 9T § ?
Options:

1) Delhi

e

2) Uttar Pradesh

3 TeRT

3) Punjab

Eric)

4) Himachal Pradesh
TS FeRT

Correct Answer: Delhi
el

Candidate Answer: Delhi
e



Question 49.Which of the following is not true about Ajanta Caves?

TFATATET & @ AT ToTocll DI & HeieT & HET AGT 82
Options:

1) They are in Maharashtra

J HAgRTS A U §

2) They are decorated with Buddhist Art

7 sig wer & Tiera &

3) They depict the techniques used in Ancient India

& STt 3Rt 7 gl cAehatiet ot ceffell §

4) They do not contain paintings of flora and fauna
3T e-afeaat & o g &

Correct Answer: They depict the techniques used in Ancient India
& YTt TRt & g ere] cAehwiiehl ol SRifell &

Candidate Answer: They are in Maharashtra

I FERTSE H Rud §

Question 50.Who was the founder of Arya Samaj?

TI-TATST o TEUTIR it & ?

Options:

1) Acharya Narendra Dev

I g &

2) Dayanand Saraswati

STelee TRET

3) Raja Ram Mohan Roy

TSI TH Agel T

4) Acharya Vinoba Bhave

TR e o

Correct Answer: Dayanand Saraswati
ETelg TEr

Candidate Answer: Raja Ram Mohan Roy
TSI TH Agel T

Question 51.A, B and C can work together for Rs. 550/- A and B together are to do 7/11 of the work. The share of C should be?

A,B 3R C Ae@ el &1 &l Rs. 550 F QX &Xl &1 A 31X B 1 fAoTent & &7 7/11 $1eT 91 &3eT o | C 1 feea farcterr gharr ?
Options:
1) Rs. 200
2) Rs. 300
3) Rs. 400

4) Rs. 450
Correct Answer: Rs. 200
Candidate Answer: Rs. 200

Question 52.In A ABC, the height CD intersects AB at D. The midpoints of AB and BC are P and Q respectively. If AD = 8 cm and CD = 6 cm, then the length of PQ is?

A ABC #, 37T CD, AB T D TR &feell & | AB 31 BC & He freg shaen: P 3l Q &1 9fa AD = 8 Ao, 31 CD = 6 ?.ah. &), Y PQ Y ol T 8 2
Options:

1)3cm

3.

2)7cm

7 ?..

3)9cm

9 I

4)5cm

5 3.3

Correct Answer: 5 cm
5 {8

Candidate Answer: [ NOT ANSWERED ]

Question 53.The price of a chair is Rs. 500. It has been sold at two succesive discounts of 10% each. What is its selling price?

Tk il &1 1T Rs. 500 &1 SH 10% T & SHHFTT Fei TX ST I17| SHHT fashd Hed FATE ?



Options:
1) Rs. 400

2) Rs. 405
3) Rs. 415

4) Rs. 425
Correct Answer: Rs. 405
Candidate Answer: Rs. 405

Question 54.The percent profit made when an article is sold for Rs. 78 is twice as much as when it is sold for Rs. 69, the cost price of the article is?

SIS I €] Rs. 78 & ST S & AT SHHT o167 3 & T Rs. 69 H o1 T gl aTel o A AT & | T T AN Hod FATE ?
Options:

1) Rs. 60

2)Rs.51

3) Rs. 55.50

4) Rs. 70
Correct Answer: Rs. 60
Candidate Answer: Rs. 51

Question 55.In a Village panchayat society 574 names are enlisted as 'below poverty level'. If 14% of the villagers are below poverty level, the total number of
villagers is?

T I SR W7 7 574 A1 "Il @ & e i g2 7 anfder §1 I aiia  14% der a1de Y a4 A g, Fﬁwﬁmﬁ@rgﬁrm%ﬁ%?
Options:
1) 4100
2) 4200
3) 4000

4) 3800
Correct Answer: 4100
Candidate Answer: 4100

Question 56.A train 240 meters in length crosses a telegraph post in 16 seconds. The speed of the train is?

240 #. T T Teh CollIlTh WH T 16 UhUS H IR T & | ST i Tl Teohcdetl 67
Options:

1) 50 Km/hr

50 fop.a./ger

2) 52 Km/hr

52 for.a. /ger

3) 54 Km/hr

54 .5 /ger

4) 56 Km/hr

56 f.3i./ger

Correct Answer: 54 Km/hr
54 .5 /ger

Candidate Answer: 54 Km/hr
54 .5 /ger

Question 57.If a2+1 = a, then the value of a3 is

IR a2+l =ag, A FAT FAE?

Options:
1)0

2)1
3)-1

4)2
Correct Answer: -1
Candidate Answer: 0



Question 58.

2

%2
Ifx+ 3y = —3x +y,then 2_y2 is equal to

qﬁx+‘35'=—3_\t+:.r—fﬂ'1 F‘h’

Options:
1) s

X & A &40
2y

2)
3) s

4)4
Correct Answer: '3
Candidate Answer: [ NOT ANSWERED ]

Question 59.From an external point two tangents to a circle are drawn. The chord passing through the points of contact subtends an angle72° at the centre. The
angle between the tangents is?

T S g @ forel gt Y o Tuel Yt a1 & | ok Regait & g JeRa drell STaT 72° SI0T &l dheg O AR e &1 T @3t & e ot fovd= A &
T ?

Options:

1) 36°

2)72°

3) 108°

4) 144°
Correct Answer: 108°
Candidate Answer: [ NOT ANSWERED ]

Question 60.Length of three line segments isgiven. Is construction of a triangle possible with the segments in the given cases?

T ST WUt S TS & 91 | ohe Fufy  wust & Feget o1 fvor FHov & 2
Options:

1) 8.cm, 7 cm, 18 cm

8 o7, 7 ok, 18 w.A.

2)8cm, 15cm, 17 cm

8 &.7%., 15 4., 17 /..

3)10cm, 6 cm, 4 cm

10 €.77., 6 /.77, 4 T

4)8cm, 10 cm, 20 cm

8 ¥.#., 10 T, 20 T

Correct Answer: 8 cm, 15 cm, 17 cm

8 ?.7., 15 4., 17 /..
Candidate Answer: [ NOT ANSWERED ]

Question 61.If sinB+ cosecB=2, then the value of sin"’8 + cosec’d is

T sinB+ cosecH=2 g T sin™/8 + cosec’d =T AT FATE ?

Options:
1)

27

2
57

3)2

4)
2—1
Correct Answer: 2

Candidate Answer: 2

Question 62.A man has some hens and some cows. If the total number of heads of hens and cows together is 50 and the nunber of feet of hens and cows together is
142, then the number of cows is

WW?W@WW@W?I e AT 3R I & RERT T ol TEAT 50 & 3R AR ve I & O dear 142 §, A I i der e g ?



Options:
1) 21

2) 25
3)27

4) 29
Correct Answer: 21
Candidate Answer: 21

Question 63.In a class, average height of all students is 'a' cms. Among them, average height of 10 students is 'b' cms and the average height of the remaining
students is 'c' cms. Find the number of students in the class. (Here a>c and b>c )

Toralr e & Tet oral 1 3t oS 'a' WAL &1 57 & 10 ol fr 3itad oEs b A § 3R AW ot i i s ' @ A €1 FeT I orl i §%ar A Sifeie ?

Options:
1)

(a{b—c))/(a—c)

2)
((b—e))/({a—c))

3)
(b—c)/(10(a—c))
4)
(10(b—c))/(a—c)
Correct Answer:
(10(b—c))/(a—c)

Candidate Answer: [ NOT ANSWERED ]

Question 64.

The simplified value of

3T 545 N 22
o 15
VE+VZ V2T O ATHAT

3\,15 5\."'3 2\,"5
VEHZ  VZHT | VIS
T B
Options:

1)0

& Tl Al

2)1
3)5

4)6
Correct Answer: 0
Candidate Answer: 1

Question 65.If (a+b-6)2 + a2+b%+1+2b = 2ab+2a, then the value of a is

Il (a+b-6)2 + a2+b2+1+2b = 2ab+2a &Y, dY a & AT FATE?

Options:
1)7

2)6
3)35

4)25
Correct Answer: 3.5
Candidate Answer: [ NOT ANSWERED ]

Question 66.Two circles of radii 17 cm and 8 cm are concentric. The length of a chord of greater circle which touches the smaller circle is

17 9.7, 3R 8 WA Fom arel & god Hehfegeh €1 DI ot I T e aTel §3 o i Sfa feherair gt ?



Options:
1) 15cm
15 |.47.
2) 16 cm
16 9.4
3)30cm
30 /.7
4) 34 cm
34 7.

Correct Answer: 30 cm
30 @3

Candidate Answer: [ NOT ANSWERED ]

Question 67.The least six digit number which is a perfect square is

HIH DI T 3! ATel TE PleT-T TEAT§ S qOT aT § ?
Options:

1) 100489

2) 100000

3) 100256

4) 100225
Correct Answer: 100489
Candidate Answer: [ NOT ANSWERED ]

Question 68.The percentage change of a number when it is first decreased by 10% and then increased by 10% is

e o ST A gge 10% T AT § 31 T 10% e Siar € aY, 39 dear & fhder gfaed aRads gl ?
Options:

1) 0.1 % increase

0.1 % aﬁf

2) 1 % decrease

1 % FHAr

3) 0.1 % decrease

0.1 % &

4) No changes

1S IRaTT AL

Correct Answer: 1 % decrease
1 % FHAr

Candidate Answer: 1 % decrease
1 % ST

Question 69.
Find the angular elevation of the Sum when the shadow of a 15m
long pole is 1—2 metres
v

59 95T 15 meea G F orr Z ma

43

3 T A HT HIONT o=@l AT HII0

Options:
1) 45°

2) 60°
3) 30°

4) 90°
Correct Answer: 60°
Candidate Answer: [ NOT ANSWERED ]

Question 70.If 2y cosO = x sin® and 2x secB - y cosecd = 3 then what is the value of X2 + 4y2 ?

& 2y cosB = x sinB 3T 2x sech - y cosecd = 3 A X2 + 4y2 & AT FATE ?

Options:
1)4

2)1
3)2

45



Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

Question 71.The difference between compound interest and simple interest on an amount of Rs. 15,000 for 2 years is Rs. 96. The rate of interest per annum is?

Rs. 15,000 & TRY 9X 2 ¥ & hgfg saTer H FLROT ST & 1T Rs.96 &1 3eei § | 1 saToT & ettt gt ?
Options:

1) 6%

2) 7%

3) 8%

4) 9%

Correct Answer: 8%

Candidate Answer: 8%

Question 72.In the given Pie-chart, the comparative study of the production of Rice, Wheat, Sugar and Tea of a country is given. Study the Pie-Chart and answer the
following questions.

T 17 arg-ene 22 A Wae, g, el 3R TR & ScTE T Jeledlcaeh eI a1 1 § | FoAa=1 et FaA & ST M i Teah AT |

SUGAR 10%

5%

From this diagram, the ratio of sum of wheat and sugar production to difference in production of rice and tea is

TH NG & AR I AR et & el IcUTee AT A1ael 3R TR & IcTTed & el BT AT Fhel=11 & ?

Options:
1) 4:5

2)5:4
3) 6:1

4) 1:6
Correct Answer: 4:5
Candidate Answer: 4.5

Question 73.In the given Pie-chart, the comparative study of the production of Rice, Wheat, Sugar and Tea of a country is given. Study the Pie-Chart and answer the
following questions.

w917 gg-are #F 1 7 TrEd, ﬁ{,mmwimﬂwmwﬁmw%ﬂ AfaRad T2t & 3ca ATH T TG GV |

SUGAR 10%

5%

The production of rice and tea is more/greater than production of wheat by-

el 3R A T IcuTe g & Sedieet A fohetell e & ?
Options:

1) 50%

2) 100%

3) 75%

4) 66.6%

Correct Answer: 100%

Candidate Answer: 100%



Question 74.In the given Pie-chart, the comparative study of the production of Rice, Wheat, Sugar and Tea of a country is given. Study the Pie-Chart and answer the
following questions.

T 31T ré-=e A &7 # wrad, g, et AR TR F ScdTeET 1 JeAIcHD JHEATeA [T AT § | T Ge7AT & SecX ATH 1 I AT |

SUGAR 10%

5%

The Central angle of Wheat % is

:ﬁg“% T T HIvT fhaer Bafrar g ?

Options:
1) 48°

2) 98°
3) 110°

4) 108°
Correct Answer: 108°
Candidate Answer: 108°

Question 75.In the given Pie-chart, the comparative study of the production of Rice, Wheat, Sugar and Tea of a country is given. Study the Pie-Chart and answer the
following questions.

T 7T arg-=E 7 22 A Tae, g, el 3R TR S IcTE HT JeleAlcaeh IETTeT ohaT a1 § | foFa=1 et 9aAT & Sk AT Y qea AT |

SUGAR 10%

5%

The total production of Rice, Wheat, sugar and Tea (In Kgs) is 500000 Kgs. The production of Rice in the country is

Tqrad, :’l{ el 3R =T T el SedTeeT 500000 .M. §1 227 # wael 1 Scqres feheial &2
Options:

1) 175000 Kg

175000 f&.3m.

2) 395000 kg

395000 fo.3m.

3) 275000 Kg

275000 fo.3m.

4) 27500 Kg

27500 5.3,

Correct Answer: 275000 Kg
275000 .3

Candidate Answer: 275000 Kg
275000 .3

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

CONTRABAND



Options:

1) BURGLED

2) SMUGGLED

3) BAFFLED

4) JUGGLED

Correct Answer: SMUGGLED

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

LENIENT

Options:

1) STRICT

2) SOLID

3) FORGIVING

4) STOIC

Correct Answer: STRICT

Candidate Answer: STRICT

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Scarety

2) Scarcity

3) Scarsity

4) Scarecity

Correct Answer: Scarcity

Candidate Answer: Scarcity

Question 79.1n the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He was(A) / very kind enough (B) / to invite me (C) / No Error(D).
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Police reports claim that (A) / substantial seizure of cocaine have been made(B) / in the last two months.(C) /No Error(D).
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Every conceivable race and nationality(A) / had its shared of suffering(B) / in the world wars (C)/No Error(D).
Options:

1) A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

She him angrily because he made the floor dirty with his muddy shoes.
Options:

1) scold

2) scolds

3) scolded

4) scolding

Correct Answer: scolded

Candidate Answer: scolded



Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

He walked along the road wondering what happened and where all the people had gone.
Options:

1) had

2) has

3) have

4)it

Correct Answer: had

Candidate Answer: had

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The criminal was lest he should escape.
Options:

1) fetid

2) fettered

3) fettled

4) feted

Correct Answer: fettered

Candidate Answer: feted

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Drive home

Options:

1) Find one's roots

2) Emphasise

3) Refer

4) Draw

Correct Answer: Emphasise
Candidate Answer: Refer

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To end in smoke

Options:

1) End without any practical result

2) End with positive result

3) Die in a burning house

4) Risk everything in a single venture

Correct Answer: End without any practical result
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

A left handed compliment

Options:

1) A subtle rebuke

2) Wholesome praise

3) An ambiguous compliment

4) A mild compliment

Correct Answer: An ambiguous compliment

Candidate Answer: An ambiguous compliment

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Experts who scientifically study insects
Options:

1) Gerontologists

2) Pathologists

3) Entomologists

4) Ornithologists

Correct Answer: Entomologists
Candidate Answer: Pathologists

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who pretends to be what he is not
Options:

1) Hypocrite

2) Pessimist

3) Optimist

4) Infallible



Correct Answer: Hypocrite
Candidate Answer: Pessimist

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A paper/story/poem first written out by hand
Options:

1) Handicraft

2) Manuscript

3) Handiwork

4) Thesis

Correct Answer: Manuscript

Candidate Answer: Thesis

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The interview came alive by satellite from Hollywood
Options:

1) came as live

2) came live

3) came up live

4) No improvement

Correct Answer: came live

Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

There was little he could do to save his battered reputation
Options:

1) salvage

2) wreck

3) destroy

4) No improvement

Correct Answer: salvage

Candidate Answer: [ NOT ANSWERED ]

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

It is_much too important to be made a joke of
Options:

1) too much important

2) too many important

3) very much important

4) No improvement

Correct Answer: No improvement
Candidate Answer: too much important

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

If he wants farther help, send him to me
Options:

1) further

2) much

3) best

4) No improvement

Correct Answer: further
Candidate Answer: further

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He jumped on the lake
Options:

1) in the

2) into the

3) onto the

4) No improvement
Correct Answer: into the

Candidate Answer: into the



Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin Chinese and English, are spoken by millions. Many people speak two or more languages. They
may use one language at home with family and friends, and another at work or school. Regional variations of language are known as dialects. The Anglo-Saxons, who
conquered Britain at the end of the Roman Empire, spoke a Germanic language, which later became English. Other Germanic languages include Danish, Dutch,
German and Swedish. English also contains French-derived words after it was ruled by French-speaking kings following the Norman Conquest.

Mandarin Chinese is spoken by people.
Options:

1) little

2) few

3) many

4) big

Correct Answer: many

Candidate Answer: many

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin Chinese and English, are spoken by millions. Many people speak two or more languages. They
may use one language at home with family and friends, and another at work or school. Regional variations of language are known as dialects. The Anglo-Saxons, who
conquered Britain at the end of the Roman Empire, spoke a Germanic language, which later became English. Other Germanic languages include Danish, Dutch,
German and Swedish. English also contains French-derived words after it was ruled by French-speaking kings following the Norman Conquest.

A person who is good at foreign languages is known as
Options:

1) Virtuoso

2) Linguist

3) Ventriloquist

4) Scholar

Correct Answer: Linguist

Candidate Answer: Linguist

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin Chinese and English, are spoken by millions. Many people speak two or more languages. They
may use one language at home with family and friends, and another at work or school. Regional variations of language are known as dialects. The Anglo-Saxons, who
conquered Britain at the end of the Roman Empire, spoke a Germanic language, which later became English. Other Germanic languages include Danish, Dutch,
German and Swedish. English also contains French-derived words after it was ruled by French-speaking kings following the Norman Conquest.

are regional variations of a language
Options:
1) English
2) Mandarin Chinese
3) Home language
4) Dialects
Correct Answer: Dialects

Candidate Answer: Dialects

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin Chinese and English, are spoken by millions. Many people speak two or more languages. They
may use one language at home with family and friends, and another at work or school. Regional variations of language are known as dialects. The Anglo-Saxons, who
conquered Britain at the end of the Roman Empire, spoke a Germanic language, which later became English. Other Germanic languages include Danish, Dutch,
German and Swedish. English also contains French-derived words after it was ruled by French-speaking kings following the Norman Conquest.

English also included French words the Norman Conquest
Options:

1) after

2) prior

3) before

4) during

Correct Answer: after

Candidate Answer: after



Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Some languages are used by a few people. Others, such as Mandarin Chinese and English, are spoken by millions. Many people speak two or more languages. They
may use one language at home with family and friends, and another at work or school. Regional variations of language are known as dialects. The Anglo-Saxons, who
conquered Britain at the end of the Roman Empire, spoke a Germanic language, which later became English. Other Germanic languages include Danish, Dutch,
German and Swedish. English also contains French-derived words after it was ruled by French-speaking kings following the Norman Conquest.

is part of a Germanic language.
Options:
1) Britain
2) Anglo-Saxons
3) English
4) Roman Empire
Correct Answer: English
Candidate Answer: Anglo-Saxons



